SPEED CONTROLLERS

- S7IUE TE7171Y SEA O WEQL T,

- OHIg RERER £EH|017 0T

- SPEIYY] AL FE & EA|(CASE) F20] S|FH 0] Hj0] OJghTt.
- UAEZOZ 3HAZ 7} E0] 9lo] LJRA]E0] HOEUTH

2 (2HF)
SP220 1F - 02 - 08 S D-W

fhe & dos ulll =

COLLAR (BRASS)
RELEASE SLEEVE (POM)
TUBE
(] HiE] 37| LA 37|
1:M5 M5 : M5x0.8
2:R1/8,1/4 01:R1/8 SERING (NOR)
3:R3/8 02:R1/4
4:R1/2 03:R3/8 O-RING (NBR)
04:R1/2 case (Pom)
O-RING (MER)
E|'|°=! NEEDLE (ERASS)
0 : Union (6] A2 2 2|H U-PACKING (NER)
2 : Elbow 04: g4 THEAD
3 : Universal 06 : J6 NEEDLE HOLE (BRASS)
_ 08: @8
(B] 72 Mojatet 10: @10
0 : Meter—Out 12: 212
1 Meter—In
LIAPRL| AZHE X 2|
(R LIAD)
_ S ! Sealant
HEX| T &y
UX} =210 =X
157|128
D : Driver
EEMNY
2RO % ure H
AE A =71 () AE517] Holl | SASIAIT, OFIAre] FOINE U BE FOIAE
ArEotE 0~150psi (0~9.9kgf/or) S &1 SIS,
PNE=R 0~60 C
At E 2 2R E /RE, LO|B /FE

1299



1300

SP +3 e =

control flow
160
SP 03—M5 < 140 8
04-M5 E 120 '
S 60 ///// 3
(_% 40 ///4 ’
———
0 1 2 3 4 5 6 7 8
needle turn
control flow
400 8
SP 04—01 < 350 7
06-01 E 300 7
08—01 T 50 7 =1°
S 150 //// 3
3 100 <+ ’
= 50 :
[
0o 1 2 3 4 5 6 7 8 9 10
needle turn
control flow
800 g
SP 04—02 "= 700 47
06-02 £ 0 /a 5
08-02 2 400 Y
10-02 £ 800 V= 8
3 200 2/ 4
12—-02 = —1 1
100 ——
0 1 2 3 4 5 6 7 8 9 10 11 12
needle turn
control flow
18
SP 06—03 = 1400
08—03 E 1200 ////7
10-03 T 'son o=
12-03 & 600 ,/;’/ 3
2 400 —
= 200 == — 1
B
01 2 3 456 7 8 9101112131415
needle turn
control flow
2000 g
SP 08-04 < /;7
10—04 E 1500 7T s
o = 3
& 500 éﬁ,’:_,/._1
0 1 2 3 4 5 6 7 8 9 10 11 12 13

needle turn

pressure(bar) pressure (bar)

pressure(bar) pressure (bar)

pressure(bar)

free flow
E150
IS /
3100 B
g 50 =
0 2 3 4 5 6 7 8
pressure(bar)
free flow
500
£ 400 P
& L~
= 300 ]~
@ // 06-01L—"]
© 200 A
§ /&// 04-01
© 100 ~
0 2 3 4 5 6 7 8
pressure (bar)
free flow
1000
= 800 -~
1= =
= 600 1
® L
T 400 ——
= 1 oq-02.04} 02
g 200 =
0 1 2 3 4 5 6 7 8
pressure(bar)
free flow
= 1400 /’
£ 1200 —
P
= 1000 -
o 800 —
S 600 /,/
g 400 —r
= 200
0 1 2 3 4 5 6 7 8
pressure(bar)
free flow
£ 2000 —
L
= 1500 —
I3 T
T 1000 -
= L
O 500 =
0 1 2 3 4 5 6 7 8
pressure (bar)




-

SP ¢+

METRIC-BSPT(R) =1
MODEL (Tulgl:s)ize) (Tube Size) (HI;IX.) W?;?ht <
SP1201F-M5-04 M5%0.8 27.1 29.1 25.4 3.6 8 9.0 T
SP2201F-01-04S 4 R1/8 10.5 5.5 40.7 30.5 8.2 14.9 1 20.0
SP2201F-02-04S R1/4 40.3 46.6 34.5 11.0 15 36.0
SP1201F-M5-06 M5%0.8 27.1 29.1 27.8 3.6 8 10.0
SP2201F-01-06S R1/8 .5 40.7 31.3 8.2 1 21.0
SP2201F-02-06S 6 R1/4 12.5 40.3 46.6 8588 11.0 16.4 15 37.0
SP3201F-03-06S R 3/8 46.9 54.9 38.8 12.2 19 70.0
SP4201F-04-06S R1/2 54.0 60.1 44.9 16.5 24 108.0
SP2201F-01-08S R1/8 5.5 40.7 33.4 8.2 1 22.0
SP2201F-02-08S 8 R1/4 15 40.3 46.6 37.4 11.0 18.7 15 38.0
SP3201F-03-08S R 3/8 ' 46.9 54.9 40.4 12.2 ’ 19 71.0
SP4201F-04-08S R1/2 54.0 60.1 46.3 16.5 24 109.0
SP2201F-02-10S R1/4 40.3 46.6 38.8 11.0 15 42.0
SP3201F-03-10S 10 R 3/8 17.5 46.9 54.9 421 12.2 20.1 19 73.0
SP4201F-04-10S R1/2 54.0 60.1 47.3 16.5 24 110.0
SP3201F-03-12S 1 R 3/8 205 46.9 54.9 45.2 12.2 28 19 75.0
SP4201F-04-12S R1/2 54.0 60.1 50.1 16.5 24 113.0

Z) SP X X01F (Meter—Out) 2t SPX X 11F(Meter—In)Q| 22 x| 4= S

MeTRIC-BSPT(R) ©9l  mm
MODEL (Tulg[s’ize) 2P lnpesee L1 (2NN E1 [E2
SP1301F-M5-04S M5x0.8 9.6 271 123 52 3.6 8 203 92
SPOIF-01-045 4 105 R1/8 151 355 143 7.0 82 148 15 203 36.1
SP2301F-02-04S R1/4 184 403 178 92 11.0 15 203 361
SP1301F-M5-06S M5x0.8 9.6 271 133 52 36 8 224 102
PROF-01-06S ., R1B 156 355 160 70 82 ., 11 240 211
SP2301F-02-065 R1/4 184 403 203 92 11.0 15 259 387
SP3301F-03-065 R3/8 219 469 233 11.5 122 19 259 702
SP2301F—01-085 R1/8 156 355 162 7.0 82 1 249 221
SOOF--0B o R14 184 403 183 92 110 . 16 283 308
SP3301F~03-085 © R38 224 469 246 115 122 °° 19 293 714
SPA301F-04—085 R1/2 266 540 266 143 165 24 293 110.0
SPZ30TF—02-105 R1/4 184 403 203 92 11.0 15 307 422
PROF-0-10S o 4,5 RB 224 469 246 115 122 50, 19 317 735
SPA30TF-04-10 R1/2 267 540 267 143 165 24 331 1125
SP2301F—02-10S R1/4 184 403 218 92 11.0 15 334 441
SPRNIF-03-125 12 205 R3/B 224 469 246 115 122 2209 19 344 79.0
SPA30TF-04-125 R1/2 267 540 267 143 165 24 358 1159

1301



SP-D ¢~ &

At =E2fo|H =FY

METRIC- BSPT(R) 2 i mm
MODEL (Tutg[s)ize) (Tube Size) (H':x.) W?gl]();ht
SPI20IF-M5-03D 3 78  M5x08 9.6 232 165 50 36 113 8 6.0
SP1210F-M5—-04SD M5x0.8 10.3 232 202 50 36 148 8 7.0
SPOIF-01-04D 4 105 R1/8 151 315 233 70 82 153 11 160
SP2201F-02-04SD R1/4 184 370 253 90 110 153 15 350
SP1201F-M5-063D M5x0.8 11.4 232 227 50 3.6 164 8 9.0
SP2201F~01-06D R1/8 151 315 242 70 82 164 11 180
SP20IF-02-06SD 6 125 R1/4 184 370 262 90 11.0 164 15  33.0
SP3201F-03-065D R3/8 219 433 272 110 122 164 19  63.0
SP4201F-04-063D R1/2 265 502 30.8 140 165 164 24  108.0
SP2201F~01-083D R1/8 162 315 259 70 82 183 11  20.0
SPOF-2-08D 45 R4 192 370 279 90 110 183 15 340
SP3201F~03-08SD R3/8 21.9 433 289 11.0 122 183 19  64.0
SP4201F-04-08SD R1/2 265 502 31.8 140 165 183 24  100.0
SP2201F-01-103D R1/8 177 315 279 70 82 197 11  26.0
SP2201F-02-103D R1/4 207 370 299 90 110 197 15 380
SP30tF-03-10D 10 175 Rgm 232 433 3.0 112 122 197 19 630
SP4201F~04-103D R1/2 265 502 334 140 165 197 24  103.0
SP2201F~02-125D R1/4 222 370 333 90 110 219 15 420
SPR20IF-03-12D 12 205 R3/8 240 433 337 115 122 219 19 650
SPU201F-04-125D R1/2 280 502 361 140 165 21.9 24 1040

E

ac

P
-
L

T
t
ol S A2
T \\V

| |
i
L

M2
MEeTRIC-BSPT(R) £l mm
MODEE S - %0 2P i = MAX 3 @C B M1 M2 WeIont
SP100F-04 4 105 264 289 448 32 149 56 154 130
SP200F—06 6 125 335 37.9 496 43 164 80 204 280
SP205F 08 8 148 355 415 564 44 187 85 220 450

SP300F-10 10 17.5 40.7 48.7 61.4 4.3 201 10.3 28.1 84.0

SP300F—-12 12 20.5 45.0 53.5 70.3 4.4 22.8 12.1 32.0 123.0

1302



SPEED CONTROLLERS

- 7] W+ uISE 28] 7).
- AREY 1 PE R,
- £87) WEE 54 e 1,

FEEAM (2YY) BCrT
SPE 06 - S - 02S

SE"‘T .'F.TN_G_[_B;AS_S_J_

HANDLE (BRASS)
LOCK NUT (BRASS)
V-SEAL (NBR) MEEDLE PLATE (BRASS)
BACK RING (FOM) BODY (BRASS)
A2 2l LiAL 27| cous ey e
04: @4 M3 : M3x0.5 RELEASE SLEEVE {POM) CASE (PBT)
06 : 26 M5 : M5x 0.8 S e
08: @8 01:R1/8 | O-RING (NBR)
10: @10 02:R1/4 O-RING (NBR)
12: @12 03:R3/8
04:R1/2
ErRd
S Small
M : Medium
L :Large

EENe

RIEE FolArst

ME AR(No ofher type of Gas orliquic) AZ3P| ol Bl 4XSIAID, ORiatel FolAE 9 BE FOIAfR
ArE 0~150(PSI) 0~9.9kgf/ent (0~990Kpa) S & oA 2.
T2 ~29.5in Hg ~750mmHg(=750Torr)
AE2HL 32~140°F 0~60°C

1303



1304

SPE

wooeL o0 - B0 11
SPEO4-M3 103 M35 1.9 322 347 258 49 30 148 8 114
SPEO4-M5 M5X0.80 11.9 322 347 258 49 36 148 8 113
SPEO6—M5 M5X0.8p 11.9 322 347 264 49 36 165 8 123
SPEO6-S-01S 6 125 R1/8 245 633 720 293 88 80 165 10 215
SNPEOG-S-028 R1/4 245 633 720 313 88 10 165 14 263
SPEOS-S-01S R1/8 265 651 717 293 88 80 183 10 225
SPEOS-S-025 R1/4 265 651 717 31.3 88 10 183 14 274
SPEB-M-01S g 148 R1/8 298 732 823 345 12 80 183 14 40.0
SPEOB-M-025 R1/4 298 732 823 375 12 10 183 14 429
SPEOB-M-03S R3/8 208 732 823 385 12 11 183 17 485
SPET0-M-01S R1/8 817 750 841 345 12 80 201 14 417
SPEI0-M-025 10 17.5 R1/4 317 750 841 375 12 10 201 14 447
SPE10-M-03S R3/8 317 750 841 385 12 11 201 17 502
SPE10-L-025 R1/4 344 801 886 424 15 10 201 19 725
SPE10-L-035 10 17.5 R3/8 344 801 886 434 15 11 201 19 765
SPE10-L-04S R1/2 344 801 886 464 15 14 201 21 852
SPET2-L-025 R1/4 871 831 916 424 15 10 231 19 752
SPEf2-L-035 12 205 R3/8 371 831 916 434 15 11 231 19 79.2
SPE12-L-04S R1/2 371 831 916 464 15 14 231 21 88.1

—_—



SPEED CONTROLLERS

[ Enl
|

- S0} 2 Do 0] AHSSFE WEYLI)
- UHE RBEEE SBA017} SOl
- UFS S A7} s

SP R - 06 - 02S

(1] E} (3] LIAL 27|
R : Elbow 01:R1/8
U : Universal 02:R1/4
03:R3/8
2] A28 2|E 04:R1/2
04 : @4
06 : J6 o
08: @8 veackm ety M|
10: @10 T,
12: @12

A2 S| AIR(No other type of gas or liquid) AMR 17| FO|| W3] £X|BHA| T, OFHALS| ZO|ASE QI ZE ZO|AbSH
AZ e 0~150(PSI) 0~9.9kgf/cr (0~990Kpa) S &1 SIAL.
g2 ~29.5in Hg —750mmHg(=750Torr)
AE2EHS 32~140°F 0~60°C

1306



SPR_§

MODEL @D op | T | L1 E2(MIN) LovAX) (ngx) Weight

SPR04-01S 4 105 R1/8 151 524 57.6 23.3 15.3 29 1

SPR04-02S R1/4 184 513 571 253 9 11 16.3 15 40.2

SPRO6-01S R1/8 151 524 576 242 7 82 164 11 298 .J—7..‘.. 5
SPR06-02S 6 125 R1/4 184 513 571 262 9 11 164 15 4141 e -3
SPR06-03S ~ R38 219 57.0 644 277 11 122 164 19 657 “ |

SPR06-04S R1/2 265 634 70.6 308 14 16.5 164 24 103 . Ui

SPR08-01S R1/8 162 524 576 259 7 82 183 11 308 .

SPR08-02S 8 145 R1/4 192 513 571 279 9 11 183 15 421 &

SPR08-03S ~ R38 219 570 644 289 11 122 183 19 66.6 ;

SPRO8-04S R1/2 265 634 70.6 318 14 16.5 183 24 103.8 |

SPR10-01S R1/8 17.7 524 576 279 7 82 197 11 326 = i

SPR10-025 10 175 R1/4 207 513 571 299 9 11 197 15 439 _.'

SPR10-03S ~ R38 232 570 644 31 112 122 197 19 68.3

SPR10-04S R1/2 265 634 70.6 334 14 16.5 19.7 24 1055

SPR12-02S R1/4 222 513 571 333 9 11 224 15 46.9

SPR12-035 12 205 R38 24 570 644 337 115 122 219 19 711

SPR12-04 R1/2 28 634 706 361 14 165 21.9 24 1079

MODEL @D oP L2(MIN)| L2(MAX) - Hl:elx We'ght

SPU04-01S R1/8 151 524 57.6 143 14.8 203
SPUM-0S ~ R1/4 184 513 571 17.8 9.2 11 14.8 15 20.3
SPU06-01S R1/8 156 524 576 15 7 82 164 11 24
SPU0B-02S 6 125 R1/4 184 513 571 203 92 11 164 15 259
SPU06-03S R3/8 219 57 644 233 115 122 164 19 259
SPU08-01S R1/8 156 524 576 162 7 82 183 11 249
SPU08—025 8 148 R1/4 184 513 571 193 92 11 183 15 283
SPU08-035 R3/8 224 57 644 246 115 122 183 19 293
SPU0B-04S R1/2 266 634 70.6 266 143 16.5 183 24 293
SPU10-028 R1/4 184 513 571 203 92 11 202 15 30.7
SPU10-038 10 175 R3/8 224 57 644 246 115 122 202 19 317
SPU10-045 R1/2 26.7 634 70.6 26.7 143 16.5 202 24 331
SPUT2-025 R1/4 184 513 571 218 92 11 229 15 334
SPU12-035 12 205 R3/8 224 57 644 246 115 122 229 19 344
SPU12-04S R1/2 26.7 634 70.6 26.7 143 16.5 229 24 35.8

1306



SPEED CONTROLLERS

- mzE

a8,

- RAIRE0| 87 7hsE ufEay,
- Ao 7oA £TR|0I9} 20).
- YUY SEAH 7} TS

g;iJ\l
ol
MY 2E&ETE Eted 2 A|ofeAl
1:Re1/8 2 : Direct connection type 0 : Meter—Out
2:Ro1/4 1 Meter—In
3:R)3/8
4:RE1/2
EEMNY
SPM12[] SPM22[] SPM32[] SPM42[]
24 R(c)1/8 R)1/4 R(c)3/8 R)1/2
- R(©)1/8 R()1/4 R()3/8 R()1/2
HELfot= 1.05MPa(149.3psi)
2| DAL 4 0.7MPa(99.5psi)
ESPSPAR=R0l = 0.1MPa(14.2psi)
Foler al 5~607T (41~140°F)
L E3|1 ™4
EX=ie) 36 74 141 238

1307



1308

=
=4
METRIC = BS PT(R) Unit - mm

MODEL T L1 L2 L3 L4 D1 D2
SPM120 R1/8  46.4 18.3 18.7 17 14 15
SPM220 Re)1/4 494 23.1 23.2 22 20 20
SPM320 R()3/8  58.5 25 29.6 26 26 26
SPM420 RE1/2  63.9 21.7 28.3 38.5 27.5 28.3

# SPM X X 0(Meter—Out) and SPM X X 1(Meter—In) are same dimension.

L1

L2




